Paper / Subject Code: 93271 / Economics - Industrial Economics

Time: 2:30 hrs. Marks: 75

Note: 1. All questions are compulsory.
2. All questions carry equal marks.
3. Draw neat diagrams wherever necessary.

Q.1. Answer Any Two of the following. (15 Marks)
a) What is monopoly power? What are the determining factors of monopoly power?
b) Discuss the sources of economies of scale.
c) Explain price determination in non-collusive oligopoly with the help of kinked demand
curve.

Q.2. Answer Any Two of the following. (15 Marks)
a) Explain the Advertising Cost Curve.
b) Describe the stages in the innovation-decision process.
c) Discuss the adopter categories in brief.

Q.3. Answer Any Two of the following. (15 Marks)
a) Explain the meaning and importance of funds flow statement.
b) Explain the meaning and importance of cost of capital.
c) Discuss the Modigliani-Miller theorem.

Q.4. Answer Any Two of the following. (15 Marks)
a) Explain the four phases of industrial growth.
b) Discuss the role of small-scale industries.
c) Describe the competition act, 2002.

Q.5. Write short note on any three. (15 Marks)
a) Determinants of firm structure.
b) Concentration Ratio.

c) Balance Sheet.
d) Influencing factors of industrial location.
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